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(HINT - SHEET)
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V. =200V V_ =200V
) V.. =400V i
V? V? 3V
R = —_— :R = — V = —
100 0 % 60" P 8
Vp, =250 Ve, =5?V
P, —60W: P, -y .p - 2Wyy
: L 64 : 64

Angle between normal to the plane of the coil-and
direction of magnetic field is 6 =60°
.. Flux linked with coil -¢ = BA cos6
=4.0 x 0.5 x cos60° = ¢g= l'weber
OR

60° 4><l><l b
¢ = BA cos60° = 5 2—lweer

AND + NOT = NAND

In absence of rod K =L22
dney l
In presence of rod E, =L2
dne,e (
€, > 1
F, > F,
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m, m, B £L+d X_zdx _ qQ |:_l:|L+d
%L % ™ L 4 4ne, 4ne,LL xJg
_ 4 [1_ 1 }
5L 4L " 4ne,LLd L+d
3 3
__aQ 1
- 4me, | (d)(L+d))
: E _BEV_O.15><O.15><O.5><0.5><2
N ext R 3 12. A
=375 % 103 N _L
OR C,
1
e=0.15x—%x2=0.15V e}
2 c, A .
. 0.15 / /\
1—Tamp B D
0.15 1 225 . q
f: 1 = ><—><0.15=—><10 V —V:—l
ifb 2 6 A C,
=37.5x 104 =3.75 x 10°N 4
- - V,-V="2
10. B,=B,+B, G,
d;
V, V=3
D C3

q, +q, +q;=0
CV,+CV, +V,C,

\Y
C, +C,+C,
hy 6 3
g Ml 11 A o 2\
BO_ O 0
4 R, R,
B at O due to PQ and RS is zero 14,7 B= P = =
11 q d dx v 3)(10_8
. 0
q
1
—F—— 15. = AR
P
d+L k d dir kq [g dxj K Q d+L 1
F= J. q2q = L _ L J. _2d
. X <2 - L ¢x ) E’
d 4
KqQ 1 9qQ 2
Fo _ In 25R R
d(d+L) 4me, d(d+L) . 16
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.. --------------------- —_——
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16.

17.

18.

19.

20.

21.

|[E| = magnitude of slope of v v/s r graph 22.
B =1 =5
m m
In steady state
R R .
—AWW—W 1 | =
R
_WV N A%ﬁ" B 23
]t
i, N [N
10V
. _10x3 _ 6
b SR - R 24.

VCap =V,g =6V
Due to refraction 1% image (w.r.t. fish)

H
S1 = E + },l.H
: H 25
due to reflection S, = E +(H + uH) .

w.r.t. (observer)

H H
S, = EJFH . S,=H+uH+—p
Saturation current for A-and B —> Incident light
will have same intensity
while stopping potential is same for B & C
eV.=K ~=hv-¢
frequency of incident light will be same

P Q R 26.
@l 24 Ol 4A 6A
©
27.
—dm ———d4n —
1 2 3
A =2\
E+E,
—>
28.
0] )
E_-E +E = 2k 2k _ 6Kk

T T T

q= J-idt = Area of i v/s t graph and time axis

1
:5><4><10*6+5><(5+15)><2><10*6
= 40uC

20cm 10cm

eV, =hv, —hy,
hv, =hv, —eV,
eVi
VO = Vl__
h
_ [
=B

Flux-donot depend upon shape

OR
Flux associated depends only on charge inside the
surface, not depend on shape or size of surface.

( 8R +6j ‘
R1g ~)W=12

(i?) (6)=6

i=1 amp.
8R + 6R +48 = 12R + 96
2R =48
R=24
& 1+2

f,=0.95 m= u, f
f=5 é
.=5cm u = 6
For eyepiece

D 'V, \Y%
1+ —= u= £

fe UC 6
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29.

30.

31.

95
25 95 2—095
vo20-2=2__5% %
’ 6 6 " " go95
94
= 6=94
mnel 6

E = E; sin(50t) + E, cos(15wt)

e\]s = hvmax - (I) Vmax = 15_0)
2n
h [15&) b
V.=—"| 5|~
s e T e
L _ nR%
=Bk M=—
T-MxB=TRE ()
4 J
k(q)(—q)j k(9)(q)
4 +2
)=
OR
q —-q
—-q q
W = USyS = 2(U,,. charge) (because system is
symmetic)

2k(q)(—q) . kq’
2

21;q2{1—\/2§\/§}

AN

A

ext

:1%12(4—\5)
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32. R, ., =4Q

33. v=-2m

u=a
P =0.5D
4. V_>V
sy SX
hvy > hvX
Vo>V

35. Steel has large coercivity than soft iron.

36. E=100cos60°i +100sin60°]
E =501 +504/3]
V, - Vg = E(5,-T,)

= (501 +50~/3j)(2i - 2k)
= 100 volt
37. Req:6+4+1:11§2
6
"1

i

@
T 11
38. at very high fequency X. =0
X, =
R,
AN
R3
—AA—
0O\
\J
n’
39. n = N,
(1019)2
1021

n,=10"/m’

T N = Vlerminal = 6 - 1(1)

R =R, +R,



41. U=U+U

intractive

2

U = —PE cos6 — ki
20

. S
42. i= g =1 amp Ve =45V
V,.=3V b5 = 1.5X
m
3V = (¢,,)X
X=2m

2n
I 2
j(el sinot +e,cos ) dt
43. | 4
2n
o
[ at
0
H
Iefsinzwt Iefcos2wt I2elezs1no>t+cosoat
= + +-2 g
fat [t N
[ at
0
1
2 2 2
=S50
2 2
i
ef+e; |2
L2
12
44. [=—""-"-"=2A
4+2
OR
i Q
»—AAAAA
J_ 7 VVVVY
T %
230 <
{ 3 220
12
i=—=2am
6 P

45.

46.
47.

48.

49.
50.

51.
52,

53.

54.

I'=£cos2 Gzlor cosO =L 0 =55°
2 6

3
Cr® = 4s°3d* = t2g3 half filled more stable
Fact

1 p)
Py = X,P{+ XgP = $x150+2x240 =210

But vapour pressure of solution is less, so solution
shows negative deviation.

Follow NCERT

2.68 of (A) gives 14.08 g of Agl

14.08 x134

134 g of (A) gives =704g of Agl

235
= 3(-OMe) groups
at higher temp. reaction would be feasible
Cyclic metaphosphoric acid (HPO;),

mol of Agl

4
O/ \OH

Therefore P-O-P linkage = 3

n n
P=K, =— but n, <<n; P=K | —=
n, +n, n,

m
=K,| ——xM
H ( 1000 solvent j
2 3x102x§x : x18 = 3atm
9 1000
Co3* + e > Co?* E% = +1.82V

2H,0 — O, + 4H* + 4e- E0=-123V

4Co* + 2H,0 — 4Co** +0, + 4H* E° = +0.59V

55.

Co* is reduced into Co?* in aqueous medium
EOH
OH

0] —
CO,CH, H
0
( 2CH;MgBr
@) CO,CH,4 ‘

CH 4H_On B CH
O C/ 3 EOH 0 C/ 3
[ NCH, [NCH,

OH
OH Mg (OH)Br OMgBr
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§7. Cl,>Br,>F,>1,

order.

: Bond dissociation energy

58. If coordination number of A*is 8 then coordination
number of B~ is also 8 that is AB has CsCl type
structure. For CsCl structure
If anions are in contact then a = 2R

= 200 pm
59. At cathode
Cu* + 2¢ — Cu
0.25 mole 0.5 mole
Moles of Cu?* deposited at cathode = 0.25
Remaining moles of Cu?* into solution = 0.75
[Cu2+]remaining = 0.75M

O O

i i N
0. cH-C-cH-C-ocH, 22,

O O
e
CH,~C-CH-C-OC,H,

(ii) C¢H,CH,Br | S 2

T
CH3—C—CIH—C—OC2H5
CH,~C,H,
()

£2HSOHlH30@

Heat

O
|
s¥Co, =

I
CH;~C—CH,~CH,~C H. &

I
<2 CcH- ClH C-OH

CH,C,H,
(II1) (IT)

63. Follow NCERT

A 1o 1

64 *=377200 20"

K, =Ca —0.2><(L] =5x10"*
20

NH, Cl
65 Br Br Br Br
. (i) HNO,; 0°=5°C Sn/HCI

(ii) Cu,ClL,+HCI

NO, NO,

)
Cl

Br: Br

(i) HNO,;0°-5°C

NH, (ii) H,PO,
(1D
Cl
Br- Br
(11I)
HN~_ /ONO HN~_ /NO2

Pd Pd
HNT  NO ONO -~ _SNH,
HN~_ _-NO, HN~_. o~ ONO
Pd Pd
OZN/ SNNH, OZN/ TNNH,
= 06 isomers
68. _Frenkel defect does not alter density of solid.
M 4 %56 _ 1120
N,a’ 6><1023><(a><10 Y 3a’
69. Cell reaction :-
H, + 2CI- — 2HCI + 2e~

Cu? + 2¢- = Cu

H, + Cu** + 2CI" - Cu + 2HCI
H T . forward shift

Cu2+ T . forward shift

H* T : Backward shift

o I

(ll) (|) AN\
Slow Ph’ ) NH
70. Ph-C-H+HO° —=Ph CQI o
| owest
OH rds
0 0
(|! +Ph_CH,-0° —H_ "
Ph/ \OH - 2 exchange Ph/ O—+_@Ph CH7~OH
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71.

73.

74.

75.
76.

78.

79.
80.

81.

83.

CH
CHC] +NaOH
84. Reimer Tiemann
reaction
OH

As —ve charge on cMmiIt

M-C (6S0)
BS 1 BS 4
BL | BL T
X 1 3
KZT t:XXE t3/4:EX30
85.
H,C
H,C” z
OH
The numbers of chiral centers = 4
The number of stereoisomers = 28 = 2* = 16
This is E-2 reaction anti elimination takes place.
Paramagnetic = 4 [Cr(NH;);(NO,),],
[Fe(NH3)6]+3, [Ni(NH3)3(H20)3]+2 [NiCl4]*2
Diamagnetic = 2[Co(OX),]7, [Ni(CO),],
InK = 86.

Magnitude of slope of reaction (1) is greater, so
activation energy of reaction (1) must be greater.
A reaction having high activation energy is always
more sensitive for temperature.

A reaction having less E, is a kinetically favoured
reaction.

A->r1,Bo>p,C—>s,D->q

Rate of Syl oc stability of carbocation.

NiZ=|1 [ 1) | 1] 1

K, [NiCl,]

3d 4s 87.

CI~ (WFL). So No pairing of e~ takes place. Hence
it is paramagnetic with two unpaired e~.
For 2" order reaction

104 t=10 min=50 t=20 mlr‘l25
t7se, _ 30 _
t 10

50%

(Phosphoric acid) -H.0

@\C 0 88.

CH, CH,
H,0°
,OH > « ,OH
C<CN CH\
OH H OH COOH
Cyanohydrin
OH

|
Ph—C=C— H%Phc CH- c1ﬂ»

(l)H
Ph—Cl—CHCIZ(unstables)

OH
lfHZO
Cl
Ph—(l,i—CH:
Cl
o)

o, a-dichloroacetophenone

2HPO,—=2C4 5 Hpo(X)

(Pyrophosphoric acid)

O oC
00°Q4 600°C,A

(Y) — > P,0,(2)

heating
HPO, (-2H,0) (Phosphorous
(Meta phosphoric Pentoxide)
H.O acid)

P, =X,P{=y,P

X, x 200 =05 x PT ...(1)

PB = XBP](B) = YBPT

X x 100 = 0.5 P, Q)

On comparing equation (1) and (2) we get
200X, =100 X; = 100(1 - X,)

1
On solving we get X, = —~

W

1
so, mole % of A in liquid = §><100 =33.33%

XII'" NCERT, surface chemistry, coagulation of
lyophilic sols.
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89. Unkown compound is phenol because it react
with neutral FeCl; and bromine water.

09Na®
NaOH _
CH,
OH ’
Neutral ¢
FeCl. > +ve
CH, OH
Br Br
Br,+H,O
AN
CH,
Br
White ppt
CH,OH CHO (|3H3
90. H——o0H H,+Ni H=——"OH ¢p.uy CIHZ s
H—+—OH H—1—OH CHZ( .
CH,OH CH,0H C|H~
(A) n-butane

Butane-1,2,3,4-tetraol.

96.
98.
99.

106.
108.
118.
122,
123.
128.
132.
138.
148.
152.
155.
157.
158.
162.
165.
167.
168.
172.
173.
175.
177.
178.
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